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03 & AL2 I 53,000 51,000 2,000
OHR(RY) Bass w2sl &)
2 & 9,000,000& 9,000 7,000 2,000
Al 2,000 0 2,000
T 7,000 7,000 0
SN2EE 6,697,220 6,717,220 A 20,000




2N
X ZH -
L= B

el

s I
SENESTE
NS SA23 845

S2A-ZH () - HRAY - BES Oif &4 JEH Hn&s2Z
= 277,000 277,000 0
= 4,720,000 4,720,000 0
Al 700,000 720,000 20,000
= 1,060,220 1,060,220 0
X SAes 2as 6,697,220 6,717,220 20,000
= 217,000 217,000 0
= 4,720,000 4,720,000 0
Al 700,000 720,000 20,000
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ORuesz THZ X 2 0% 0 20,000 £20,000
Al 0 20,000 A20,000
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z 180,000 0 180,000
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